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HCA

d0

1

2

3

d0 dfh1

tfix

4

5

  d0 = Ø

WS

HCA Ø d0 [inch] tfix [inch] h1 [inch] df [inch]
 1/4 x 1 3/4  0 ... 5/8 1 3/4

 1/2 x 4  0 ... 1 3/8 4

1/4 

3/8 

1/2 

5/8 

3/4 

5/16 

7/16 

9/16 

11/16 

13/16 

 1/2 x 5 1/2  0 ... 2 7/8 5 1/2
 1/2 x 7  0 ... 4 3/8 7
 5/8 x 3 1/2  0 ... 3/8 3 1/2
 5/8 x 5  0 ... 1 7/8 5
 5/8 x 8  0 ... 4 7/8 8
 3/4 x 4 1/2  0 ... 1/4 4 1/2
 3/4 x 6  0 ... 1 3/4 6

 1/4 x 3 1/2  0 ... 2 3/8 3 1/2

 3/4 x 10  0 ... 5 3/4 10

 3/8 x 2 1/4  0 ... 1/8 2 1/4
 3/8 x 3  0 ... 7/8 3
 3/8 x 5  0 ... 2 7/8 5
 1/2 x 3  0 ... 3/8 3

 1/4 x 2 1/2  0 ... 1 3/8 2 1/2

HCA [inch] WS [inch] tinst [ft-lb]
  Ø 1/4 7/16 10

 Ø 1/2 3/4 80
 Ø 5/8 15/16 130
 Ø 3/4 1 1/8 180

 Ø 3/8 9/16 40

5.1

Printed: 11.05.2016 | Doc-Nr: PUB / 5181308 / 000 / 01



HCA 5/8"
    d0 = 16mm

HCA [mm] SW [mm] t fix [mm] Tmin [Nm]
Ø 16 24 10 180

SW

d0
  d0 = Ø

d0 dfh1

tfix

A1

A2

!
A3

A4

A5

SW

 HCA  Ø d0 [mm]  tfix [mm]  h1 [mm]  df [mm]

 16 x 90  0....10 95 – tfix

 16 x 130  0....10 135 – tfix 

min

A1 A5-

B2

B3

B1

B4.2B4.1

B5.1 B5.2

B6.1 B6.2

16 18
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